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He is discussing ‘seeing’, he excludes ‘seeing’ — N1PR9 LYRR NR2 INP

OVERVIEW

The word 'nX1', which is an exclusion, is written' by the n1X7 of a 21. The XA
states that it is (more) logical that this V¥ should exclude mM2ar from NX7 (than
excluding 027 from 2°%°), since the P09 is discussing N1°X7. Our MdOIN explains
why the logic cannot work in the reverse that we should exclude a 21, but not a 1727.

nooIn asks:
= NAT VYNN 2T XRP AT VYNN 212 IRP NAFYTIN NN

It is astounding! On the contrary, we should say, since the 105 is discussing a
a1, we should exclude a 2t (from 2°»°), but does it make sense that when we are
discussing a 31 we should exclude a 7727 from n1x1?!

mooIn proves his point that it is preferable to exclude the ar than the 7ar:
- ©9993 05109 019N PRY (0w x,12 91 PN NVINYT XN 7992 )9PWHTTD

As the Xn»12 interprets the 2’2109 in the first pa5 of 127 nw s, that 299 are

not disqualified to serve in the w7pn if they have blemishes -
- ©%99 NINN PR DNYY TUNR NN *25N97

For it is written, ‘and this is regarding the 299’ we interpret this to mean, and

there is no other restriction (such as 0°n1) regarding the 2°7%. The same should be
by the nXn which is written by a 27, that it should apply to a 21; not a 727.

ND0IN answers:
- ©%3193 PYDID DY PRY ‘D315 XY ©199 NN 139WAT 1IN 993 BNNT 9T U

And one can say; that there too we would have interpreted the words of nR™M

' The 2108 (in 3,79 [¥71¥71] RIP*1) reads: RI7 INRAY 1217 12 2NN IR 12T DX 1WA 77 12172 IRV 7770 DR,
? The 09 of NXN is discussing a person — a 21, and a rule — NPXI. MO argues that it is preferable to utilize the
v for the person (that a 21 is not 22 X1vn) than to say that the n1°X1 are limited to a 27 and not a 721.
? The 2°p108 (in 7-72,1 [TM9vna] 12723) read: .7yin YIX NTY2 KIY X2LY Ki2» 79y0) MY DY) Won 120 0172 YN NRT .10
71y 72Y° K?) 77297 RYD W MY wng 12931 10, We derive from the word 'nXT', that the only restriction on the 2% is
their age (from twenty-five to fifty years old only), but they are not restricted by 1" as 0°173 are. Here too there is
the person — the 0%, and a rule — years; we could seemingly say [as we say by 1], that only the 07 are restricted
by years but not the 0°373. Nevertheless we choose the 0131 of nXT to apply to 2> and not to the 0173, so here too
by 21 we should chose the v1¥°» of nNXN to apply to 21 (that he is not 012 Rxvx), but not to 727 (that she is not X»nun
neRI2).
* We would rather use an exclusion and apply it to the rule (221w, n1°X7) that it applies here (22, ar) and not
elsewhere (3772, 1721), than to apply the exclusion to the person (2, 21), and sat it applies for this (2°1w, n1*X7) but not
for that (2>mn, o°n°).
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271%%’ to mean but not for 2°1772, meaning that years do not disqualify 23775 from
serving in the w7pna N1 -

10959 *UNMD 1YY 11PWITT DIV NN
But since we know this exclusion (that 0°175 are not restricted by age) since we

interpret the verse of 2:1%% 9N to mean that this restriction of age applies only to 2™, but
not °3713, therefore the word nNXT can be utilized to exclude 2> from being disqualified by 2.

SUMMARY

It is preferable to establish the exclusion on the rule (that it applies here and not
elsewhere) than to establish it regarding the individual (that he has this rule but not
another).

THINKING IT OVER

MooIN (in his question and answer) has two diametrically opposed views (whether
it is preferable to apply an exclusion to limit the ruling to this person or group, but
not others [the answer], or whether this exclusion limits this person or group [the
question]). What is the logic behind these two opposing views?

> The words 0% TwX (regarding the 2%) can only mean to exclude 2°373, it cannot be used as an exclusion for o
as 0177 WK DXT can be utilized to exclude 2> from o°mn. We therefore utilize each exclusion for which it is more
appropriate.

2

TosfosInEnglish.com



